TH3E FHAIKES

iy E R
R B TR6H | 2H3H | SHTH | 4H198 | 5A12H 6A2E TH21E | 8R4B | 9R1H | 10A6H | 11A17E | 124158
BKEH | 9:05 9:00 12:20 13:30 130 10:50 730 145 140 110 71:30 73:20
IE_?RN:! [€.1:3) x o|l&xX Oo|® DK £ ol K o [F oOo]®K Oo|EK oL[KR O[F O[EK D
B3] L] f ) L] L] L] 2 L] L] IZhi@ L] L] L]
KEL m| 711 725 714 7.60 735 740 7.40 7.38 7.40 7.21 714 7.18
£33 m3/sec - - - - - - - - - - - -
5 [EXE m|__0.40 0.30 0.60 0.80 0.80 0.9 0.64 0.72 0.71 0.60 0.64 0.67
W |BAKR m|__0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
w [R&E | 28 3.0 7.6 15.5 15.0 205 3.0 31.5 7.5 7.5 1.5 95
A k= |38 42 [Al .1 13.0 75.9 217 23.4 10.7 7.5 0.4 5.9
= A (1) Oko&R) wEED | K2 | KEEN | KB | KEED | KEEH | KEEY | KEEY | KB | KEED | KEEY | KEEH
B SR (2) (FER) [[E3 [[E3 [[E3 [[E3 [[E3 [:E3 [[E3 [[E3 [[E3 [[E3 &3 &3
W (3) (KRRE) - - - - - - - - - - - -
SR (4) (E0i) - - - - - - - - - - - -
CENE ) £ =% =2 =|® £ E|I R 2 |®% 2% =HlEg =2|x =|x =Z|IE =
BERE o] >100 >100 >100 >100 >100 >100 100 100 100 100 5100 5100
BT m[___- = = = = - = = = = = =
TE[pH T4 7.3 75 7.0 7.0 Al 6.9 6.9 A 72 7.2 73
3%[BoD mg/L| 0.5 0.5 0.5 0.5 0.8 7.0 T4 0.6 05 0.8 0.5 1
R®(Cop me/L| 0.8 1.7 1.3 1.2 T1 0.8 1.3 0.5 T4 T4 1.0 7.0
anss me/L] <1 3 3 3 3 7 3 3 3 3 3 3
Mm[DO me/L| 127 12.5 2.4 0.4 1.4 10.4 9.6 8.8 10.0 10.6 12.0 2.8
2 [AREER (1) WPN/100m_ 70 730 730 490 730 330 1300 1700 790 7200 180 790
B < [BER me/L| 033 0.39 0.25 0.18 0.14 0.19 0.19 0.16 0.21 0.24 0.30 0.23
B[Ey > me/L| 0.009 0.014 0.016 0.013 0.018 0.027 0.010 0.024 0.016 0.025 0.039 0,021
HESOL meg/L|_<0.0003 - - - - - <0.0003 - - - - -
@7 mg/L| <01 = B B B B 0.1 B B B B B
3 mg/L|_<0.005 - - - - - <0.005 B B B B B
65 04 mg/L|__<0.01 B B B B B <0.01 B B B B B
=3 mg/L|_<0.005 - - - - - <0.005 B B B B B
23] mg/L|_<0.0005 B B B B B <0.0005 B B B B B
A |[TELKE me/L|_<0.0005 - - - - - <0.0005 B B B B B
o [PcB mg/L|_<0.0005 B B B B B <0.0005 B B B B B
® [S7ooisv mg/L|_<0.002 - - - - - <0.002 B B B B B
B EEEER mg/L| <0.0002 B B B B B 30,0002 B B B B B
o |[izspmEzsy we/L| <0.0004 = - - - - <0.0004 - - - - -
g [=omRzziy mg/L| <0002 B B B B B <0.002 B B B B B
= [PA.2SsmaIFry mg/L|_<0.004 - - - - - <0.004 - - - - -
M [Li-rusnnzs> mg/L|_<0.0005 B B B B B <0.0005 B B B B B
¥ [ld.2-rysonxIsy mg/L|_<0.0006 - - - - - <0.0006 - - - - -
3 [rormozzoy me/L| <0001 B B B B B 0,001 B B B E E
: FF5500IF0Y me/L|_<0.0005 - - - - - <0.0005 - - - - -
% [13-S/nnJoxy (D-D) me/L| <0.0002 B B B B B <0.0002 B B B B B
a [Fosh me/L|_<0.0006 - - - - - <0.0006 - - - - -
-4 $ITY (CAT) mg/L| <0.0003 - - - - - <0.0003 - - - - -
B [FERCINTRoFAA—N mg/L|_<0.002 - - - - - <0.002 B B B B B
RoBY mg/L|_<0.001 B B B B B <0.001 = B B B B
BT mg/L|_<0.002 - - - - - <0.002 - - - - -
WERESRRUVEMBRBER mg/L| 0.23 - - - - - 0.16 — = = - -
ESE3 mg/L|__0.09 - - - - B <0.08 B B B B B
ES5R mg/L|_<0.02 = B B B B 0.02 B B B B B
1, 4-SAXVY mg/L|_<0.005 - - - - - <0.005 - - - - -
g:kﬁﬁl:ﬁ ETY wi| - - - - - - - - - - - -
FUE=DLEER me/L|__0.05 - 0.01 - 0.01 - <001 - <0.01 - <0.01 -
mg/L|_<0.002 B <0.002 B <0.002 - <0.002 B 0.002 B <0.002 B
me/L|__0.23 - 0.16 - 0.05 - 0.16 - 0.19 - 0.25 -
me/L] 005 = 0.09 = 0.09 = 0.03 = 0.02 = 0.05 =
me/L|__0.20 - 0.24 - 0.06 - 0.16 - 0.20 - 0.20 -
me/l] - = = = - = - = = = = =
= me/L|_0.006 - 0.010 - 0.010 - 0.006 - 0.016 - 0.030 -
] mg/L|_<0.003 B 0.005 B 0.008 - <0.003 B 0.006 = 0,006 =
F 3 me/L|__0.008 - 0.012 - 0.010 - 0.006 - 0.015 - 0.037 -
it me/l] - = - = - = = = - = = =
B [##EEE (TOC) 7 - - - - - - - - -
B [WMMcop me/l] - = = = = = = = = = = =
J00J1)ba ue/l| 2 - < - 1 - 1 - [ - [ -
2zX24FY FzFER) ug/L 3 - <1 - 1 - 1 - 1 - 1 -
®o/OOo 1L ugl| - - - - - - - - - - - -
SUh mg/L|__11.0 9.0 9.6 75 T i1 Il 12 13 13 12 7
BMI5 U0 FoBR #@/nl | 196 - 91 - 845 - 776 - 607 - [ -
[BMT5 5 F Bk a1 - - - - - - 2.0 - - - - -
PELE 2N mg/L - - - - - - <0. 0006 - - - - -
F5UZ1.29500TF 0y me/L - B B B B - <0.004 B B B B B
1,2->7an70/8> mg/L - - - - - - <0. 006 - - - - -
p—SH/OORUEY me/L] - B B B B - 0.02 B B B B B
1IEYTAY me/L| - - - - - - <0.0008 - - - - -
EATT/ Y me/L - - - - - - <0.0005 - - - - -
2x=+AFFY (MEP) mg/L - - - - - - <0. 0003 - - - - -
1JI0FA5> me/L] - B B B B - <0.004 B B B B B
EEas K1 1) me/L| - - - - - - <0.004 - - - - -
sonRs0=) (TPN) mg/L - - - - - - <0. 004 - - - - -
B [JOe¥sF me/L| - - - - - - <0.0008 - - - - -
g s ErP0 we/L| - = = = = = 20,0006 = = = = =
5 Y ALKR (DDVP) mg/L - - - - - - <0. 0008 - - - - -
5 [2=/7AAT (BPMC) me/L - B B B B - <0.003 B B B B B
47axk2 (1BP) mg/L - - - - - - <0. 0008 - - - - -
JoL=rA7zY (CNP) mg/L - - - - - - <0. 0001 - - - - -
(=] me/L| - - - - - - <0.06 - - - - -
E me/L - B B B B - 0.04 B B B B B
FENBSIFIAFIN mg/L - - - - - - <0. 006 - - - - -
B mg/L - - - - - - <0. 001 - - - - -
T IT> me/L - - - - - - <0.007 - - - - -
FUFED me/L] - B B B B - <0.002 B B B B B
SoFK meg/L - - - - - - - - - - - -
ESR me/L| - - - - - - - - - - - -
ﬁ’; RE ®| 0.2 0.4 0.2 0.3 0.5 0.2 0.4 0.6 0.4 0.4 0.2 0.4
W= ms/m - - - - - - 4.3 - - - - -
ton |[REEAREER m/ioon| 28 = p = ) = 1 - 70 - 7 =
EEE 0F me/L| - - - - - - - - - - - -
[BwES U5 e/l - - - - - - - - - - - -
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